

Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

1214921

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15		
Name:			Spot Description:		
Address 1:			Sec.	Twp S. R	East West
Address 2:			F6	eet from North / Se	outh Line of Section
City: S	tate: Z	ip:+	Fe	eet from East / W	lest Line of Section
Contact Person:			Footages Calculated from	Nearest Outside Section Cor	rner:
Phone: ()			□ NE □ NW	V □SE □SW	
CONTRACTOR: License #			GPS Location: Lat:	, Long:	
Name:				(e.g. xx.xxxxx)	(e.gxxx.xxxxxx)
Wellsite Geologist:			Datum: NAD27	NAD83 WGS84	
Purchaser:			County:		
Designate Type of Completion:			Lease Name:	Well	l #:
	e-Entry	Workover	Field Name:		
	_	_	Producing Formation:		
☐ Oil ☐ WSW ☐ D&A	☐ SWD	□ SIOW □ SIGW	Elevation: Ground:	Kelly Bushing: _	
OG	GSW	Temp. Abd.	Total Vertical Depth:	Plug Back Total Dep	oth:
CM (Coal Bed Methane)	_ dow	тетір. дай.	Amount of Surface Pipe Se	et and Cemented at:	Feet
Cathodic Other (Con	re, Expl., etc.):		Multiple Stage Cementing	Collar Used? Yes N	No
If Workover/Re-entry: Old Well In			If yes, show depth set:		Feet
Operator:			If Alternate II completion, of	cement circulated from:	
Well Name:			feet depth to:	w/	sx cmt.
Original Comp. Date:	Original T	otal Depth:			
Deepening Re-perf.	Conv. to E	NHR Conv. to SWD	Drilling Fluid Managemer	nt Plan	
☐ Plug Back	Conv. to G	SW Conv. to Producer	(Data must be collected from t		
Commingled	Dormit #		Chloride content:	ppm Fluid volume: _	bbls
Dual Completion			Dewatering method used:		
SWD			Location of fluid disposal if	i hauled offsite:	
☐ ENHR			Loodiion of haid diopodal in	nation office.	
GSW	Permit #:		Operator Name:		
_ _				License #:	
Spud Date or Date Re	ached TD	Completion Date or	Quarter Sec	TwpS. R	
Recompletion Date		Recompletion Date	County:	Permit #:	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY							
Confidentiality Requested							
Date:							
Confidential Release Date:							
Wireline Log Received							
Geologist Report Received							
UIC Distribution							
ALT I II Approved by: Date:							

Page Two



Operator Name:				Lease N	Name:			_ Well #:		
Sec Twp	S. R	East	West	County	:					
	ow important tops of fo ing and shut-in pressu o surface test, along wi	res, whe	ther shut-in pre	ssure reacl	hed stati	c level, hydrosta	tic pressures, bo			
Final Radioactivity Logilles must be submitted						gs must be ema	iled to kcc-well-lo	ogs@kcc.ks.go	v. Digital	electronic log
Drill Stem Tests Taken (Attach Additional S		Ye	es No			3	on (Top), Depth a			Sample
Samples Sent to Geol	ogical Survey	Ye	es 🗌 No		Nam	9		Тор	L	Datum
Cores Taken Electric Log Run		☐ Y€								
List All E. Logs Run:										
			CASING	RECORD	│ Ne	w Used				
		Repo				rmediate, producti	on, etc.			
Purpose of String	Size Hole Drilled		e Casing : (In O.D.)	Weig Lbs./		Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
									<u> </u>	
Purpose	Depth					EEZE RECORD				
Purpose: Perforate	Top Bottom	Туре	of Cement	# Sacks	Used		Type and I	Percent Additives		
Protect Casing Plug Back TD										
Plug Off Zone										
Did you perform a hydrau	ilic fracturing treatment or	n this well?	·			Yes	No (If No, sk	ip questions 2 ar	nd 3)	
	otal base fluid of the hydra		•		•			ip question 3)		
Was the hydraulic fractur	ing treatment information	submitted	to the chemical of	disclosure reg	gistry?	Yes	No (If No, file	out Page Three	of the ACC)-1)
Shots Per Foot			ID - Bridge Plug Each Interval Perl				cture, Shot, Cemen		b	Depth
TUBING RECORD:	Size:	Set At:		Packer At	t:	Liner Run:				
							Yes No			
Date of First, Resumed	Production, SWD or ENH	R.	Producing Meth Flowing	nod:	g 🗌	Gas Lift C	other (Explain)			
Estimated Production Per 24 Hours	Oil Bl	bls.	Gas	Mcf	Wate	er Bl	ols.	Gas-Oil Ratio		Gravity
DIODOGITI	ON OF CAC			ACTUOD OF	COMPLE	TION		DDODUGT		
Vented Sold	ON OF GAS: Used on Lease		N Open Hole	NETHOD OF \Box Perf.	Dually	Comp. Con	nmingled	PRODUCTIO	λΝ ΙΝΙΕΚ\	/AL:
(If vented, Sub			Other (Specify)		(Submit A		mit ACO-4)			

Kepley Well Service, LLC

19245 Ford Road Chanute, KS 66720

Invoice # Date 49683 5/28/2014

Greg Lair Piqua Petro 1331 Xylan Road Piqua, KS 66761

Diebolt - Southwest Well Woodson County

#	6-14

		5/28/2014		
Description	n	Qty	Rate	_Amount
Pulling Unit 5-20-14 Run pipe down outside, cement. Pump cement to surface, pull reclean.	Pull half of pipe. est of pipe. Wash	3	100.00	300.00T
Pump Charge		1	500.00	500.007
Vacuum Truck		3	85.00	255.007
Cement Sales Tax		143	10.00 7.15%	1,430.007 177.68
			** 509 1/4	; ;

Due Date

Terms

Total	\$2,662.68
Payments/Credits	\$0.00
Balance Due	\$2,662.68

Leis Oil Services, LLC

1410 150th Rd Yates Center, KS 66783

Invoice

Date	Invoice #
6/1/2014	1026

P.O. No.	Terms	Project
	Due on receipt	

Quantity	Description	Rate	Amount
1	Drill Pit	100.00	100.0
	Cement for Surface	11.60	92.8
	Drilling Diebolt 6-14	6.25	7,737.5
	Mississippi Bit Charge	600.00	600.0
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
	Drilling Shannon 13-14	6.25	5,487.5
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
874	Drilling Shannon 12-14	6.25	5,462.5
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
879	Drilling Shannon 14-14	6.25	5,493.
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.
865	Shannon 15-14	6.25	5,406.
1	Drill Pit	100.00	100.0
	Cement for Surface	11.60	92.
	Diebolt 7-14	6.25	7,637.
1	Mississippi Bit Charge	600.00	600.0
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.
3	Making crossing through stream on Diebolt (3hours)	45.00	135.0
			1
		Total	\$39,909.

lotal



LEIS OIL SERVICES



1410 150th Rd. • Yates Center, Kansas 66783 • (620) 212-0752

Operator License #: 30345	API #: 15-207-28899-00-00			
Operator: Piqua Petro, Inc.	Lease: Diebolt			
Address: 1331 Xylan Rd Piqua, KS 66761	Well #: 6-13			
Phone: (620) 433-0099	Spud Date: 05-14-14 Completed: 05-15-14			
Contractor License: 34036	Location: SE-NW-SE-SE of 15-24-17E			
T.D.: 1238 T.D. of Pipe: 1235 Size: 2.875"	700 Feet From South			
Surface Pipe Size: 7" Depth: 22'	4350 Feet From West			
Kind of Well: Oil	County: Woodson			

LOG

Thickness	Strata	From	То	Thickness	Strata	From	To
6	Soil/Clay	0	6	13	Sand/Shale	851	864
5	Shale	6	11	337	Shale	864	1101
18	Lime	11	29	2	Lime	1101	1103
118	Shale	29	147	60	Shale	1103	1163
14	Lime	147	161	2	Coal	1163	1165
9	Shale	161	170	9	Shale	1165	1174
74	Lime	170	244	4	Lime/Odor	1174	1178
78	Shale	244	322	6	Oil Break	1178	1184
68	Lime	322	390	1	Lime	1184	1185
9	Shale/Black Shale	390	399	4	Oil Break	1185	1189
21	Lime	399	420	49	Lime	1189	1238
3	Shale/Black Shale	420	423				
24	Lime	423	447				
167	Shale	447	614				
4	Lime	614	618				
20	Shale	618	638				,
9	Lime	638	647				
68	Shale	647	715				
3	Lime	715	718				
15	Shale	718	733				
18	Lime	733	751				
16	Shale	751	767				
13	Lime	767	780		T.D.		1238
9	Shale	780	789		T.D. of Pipe		1235
4	Lime	789	793				
11	Shale/Black Shale	793	804				
4	Lime	804	808	7			- A
41	Shale	808	849				
2	Lime	849	851			7	



268226

TICKET NUMBER 45953

FOREMAN JETCHY RAUSTIN

DATE

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

AUTHORIZTION

FIELD TICKET & TREATMENT REPORT

20-431-9210	or 800-467-867	5		CEME	NT				
DATE	CUSTOMER#	WE	LL NAME & NUM	IBER	SECTION	TOWNSHIP	RANGE	COUNTY	
5/16/14 CUSTOMER	4950	DieBo	olt 6	-14	-received as the cell	N A S A S A S A S A S A S A S A S A S A	olo Lanement	woodson	
			E BI FOYE PAR A			and the property			
MAILING ADDRE	Pet				TRUCK#	DRIVER '	TRUCK#	DRIVER	
				of my	485	Zevi		MANUEL DESIGNATION OF THE PERSON OF THE PERS	
CITY ISTATE IZIP CODE					667	Seth			
	,	STATE	ZIP CODE		634	merle		microt where	
Piaux		K5	66761						
JOB TYPE	5	HOLE SIZE	55/8	HOLE DEPT	H_1238	CASING SIZE & WI	EIGHT 2	1/8	
CASING DEPTH_/235 DRILL PIPE				TUBING_			OTHER	ec down hole	
SLURRY WEIGHT 13.6 SLURRY VOL 8.2				WATER gal	gal/sk 9.02 CEMENT LEFT in CASING				
4 /					100 RATE 2-4 BATTEl per mine				
REMARKS:						de Rosso, and digits		Chalamarahan	
Sufta me	rtina Hr	sked up i	n 23/8 hars	in broad	2 circulation	n throw mix	mix-d	25/524	
of Gell	250765 1 CI	reulated	Calfor	PHONE	unand 25	Ks of Comen	T Short day	in costad	
	sc un Hork	Ed Hace	washed a	was el	in to pit to	looked Breke	2 40 97/	e dechine	
oumond	2-27/8 5	ubber of	us to Th	of tub	ina (Disalar	ed 4.1 hb(c)	Innoted	alues as	
8501h 1	blowd has	4 4 50	othe und	Chit it	The with up	ed 9-166(5)	The court	angs de	
0.00	HENG LIFE	-10 10	TOS HILL	201111 11	THE WITH OH!	UC .			

ACCOUNT CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL	
5401	1	PUMP CHARGE	10.85.00	1085,00	
5406	45	MILEAGE	4.20	189.00	
5404	_ /	min Bulk Delivery	368.00	368.00	
1126	25 5K5	Thickset Consuit	20.16	504.00	
11104	125#	KOLSEHL	, 46	57,50	
1107A	25-#	Pheno	1.35	33.75	
1118 13	1,250 #	Gel	,22	275,00	
			1		
5502	3 Hos	80 VAC	90.00	270.00	
1123	3000	80 UAC City WHEET	17.30	51.90	
4402	2	RuBiser Plugs	29.50	59,00	
				2893.15	
		30	% discount +	-261.07	
*				2632.08	
			SALES TAX	51.48	
ESTIMATED TOTAL					

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's

TITLE